EXAM P QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of October 29/07

The loss random variable X has the following paf:

f($):{ilj'—%2 if 0<ae<1

S _ , and 0 otherwise.
T—o+1 ifl<zr<?2

When aloss occurs, an insurer pays the loss above a deductible of .5, up to a maximum
insurance payment of 1.
Find the insurer's expected payment when aloss occurs.

A)33 B).48 C) 55 D)67 E).80

The solution can be found below.



Week of October 29/07 - Solution

The insurer's expected payment when aloss occursis
f}aS(x —.5) f(z)dz + f12.51 - f(x)dx
= (e —5)(z—L)yde+ [P - 5)(% —x+1)de+ [[ (5 —x+1)de
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